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Question: 1

To comply with the SAP Fiori principles, which view type is recommended by SAP?

A. JSON
B. XML
C. HTML
D. JavaScript

Answer: B

Question: 2

In an SAPU15 application, where do you find the reference to sap-ui-core.js?

A. In the URL to the SAPU15 application
B. In the bound attributes data model
C. In the manifest.json descriptor file
D. In the bootstrap section of the index.html

Answer: D

Question: 3

You are working on an entity using Core Data Services.
Which properties can you define inside the Technical Configuration section?
Note: There are 2 correct answers to this question.

A. Import
B. Storage Type
C. Index
D. Association

Answer: B, C



Question: 4

You implement a native SAP HANA application using SAP HANA extended application services,
advanced mode
(XS advanced) and SAPUI5.
Where is the UI rendering executed?

A. On the XS advanced application server
B. On the SAPUI5 HTML5 module
C. On the front-end client device
D. On the SAP Fiori front-end server

Answer: C

Question: 5

Which of the following are characteristics of SAPU15? Note; There are 3 correct answers to this
question.

A. Provides device-specific user experience
B. Supports customer-specific theming
C. Provides an extensibility concept
D. Enables responsive application design
E. Renders the UI on server side

Answer: A, B, C

Question: 6

What happens if you define a database object in the persistence model and deploy it using the SAP
HANA Deployment Infrastructure (HDI)?

A. The corresponding runtime object is created in the database module of the multi-target
application during runtime.
B. The corresponding runtime object is created in the HDI container on deployment.
C. A descriptive representation of the object is created in HDI during runtime.
D. The HDI container is created when the design-time object is saved.

Answer: B

Question: 7

Which GIT command do you use to consolidate all changes from one branch with another branch



using a single commit?

A. Commit
B. Push
C. Rebase
D. Merge

Answer: D

Question: 8

You need to view the data model exposed by an OData V2 service. What must you append to the
service URL?

A. $servicedefinition
B. $schema
C. $metadata
D. $format

Answer: C

Question: 9

Which of the following SQLScript elements do you use to transform a set of arrays into an
intermediate table variable?

A. SET
B. UNSET
C. ARRAY
D. UNNEST

Answer: D

Question: 10

In an SQLScript procedure, which feature do you use to initialize IN/OUT table parameters?

A. IS_EMPTY
B. DEFAULT EMPTY
C. DEFAULT
D. SET

Answer: B




